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const int MAXN=5e5+5;

struct Edge
int to,next;

edge [ MAXN<<1];

int head MAXN|,edge cnt;

void Insert(int u,int v
edge|++edge cnt|.to=v;
edge|edge cnt].next=head/u!;
head|u!=edge cnt;

char buf[MAXN!;
int cnt[MAXN ;
bool ans|[MAXN];
vector<pair<int,int> > query|[MAXN];
bool check(int d

int temp=0;

_for(i,o0, temp+=cnt|d| [1]&1;

temp<=1;

int d/MAXN|,sz[MAXN|,dfs id[MAXN|,node id/MAXN|,dfs t;
int h_sonMAXN|,mson[MAXN/;
void dfs 1(int u,int depth
szlul=1;dlul=depth;dfs id/u/=++dfs t;node id[dfs t|/=u;mson{ul/=0;
int i=head|u];i;i=edge!i].next
int v=edgel[i].to;
dfs 1(v,depth+1);
szlul+=sz|v];
sz/v/>msonlu
h sonlul=v;
mson{ul=sz(v];

void update node(int u,int v){cntidfu buflul-'a'l+=v;
void update tree(int u,int v

_for(i,0,szlu

update node(node id/dfs idlul+il,v);

void dfs 2(int u,bool del
int i=head|u];i;i=edge!i].next
int v=edgel[i].to;
v==h son|u ;
dfs 2(v,true);

h sonful)dfs 2(h son|ul, false);
update node(u,1);

int i=head|ul;i;i=edge|i].next

int v=edgel[i].to;
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v==h_son|u ;
update tree(v,1);

_for(i,0,querylul.size
ans|querylul[i].first]|=check(querylu] i].second);
del)update tree(u,-1);
int main
int n=read int(),qg=read int(),root=1,u,d;
_rep(i,2,n
Insert(read int(),1i);
scanf("%s",buf+1);
_for(i,0,q
u=read int(),d=read int();
query/ul.push back(make pair(i,d));
dfs 1(root, root);
dfs 2(root, false) ;
_for(i,0,q
ans|i
puts("Yes");

puts("No");
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const int MAXN=1e5+5;
struct Edge
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int to,next;

edge  MAXN<<1];

int head MAXN|,edge cnt;

void Insert(int u,int v
edge|++edge cnt].to=v;
edge|edge cnt].next=head|u!;
head|u/=edge cnt;

int color/MAXN|,cnt/MAXN]|,max c;LL sum c,ans|[MAXN];
int sz[MAXN|,dfs id/MAXN|,node id[MAXN|,dfs t;
int h_son/MAXN|,mson|[MAXN]|;
void dfs 1(int u,int fa
szlul=1;dfs _id|u|=++dfs_t;node id/dfs t|=u;mson[u|=0;
int i=head|u];i;i=edge!i].next
int v=edgel[i].to;
v==Ffa ;
dfs 1(v,u);
szlul+=sziv];
sz[v|>msonlu
h sonlul=v;
mson|ul=sz(v];

void add node(int u
cntlcoloriul |++;
cnticolor|ul |>max_c
max_c=cnt/color(ul!,sum c=color|ul;
cnticolor|ul |==max_c
sum c+=color(ul;

void add tree(int u
_for(i,0,szlu
add node(node id/dfs id[ul+i]);

void del tree(int u
_for(i,0,szlu
cnt/colorinode id/dfs id[ul+i --;

void dfs 2(int u,int fa,bool del
int i=head|u];i;i=edge!i].next
int v=edgel|i].to;
v==h_son|ul||v==fa ;
dfs 2(v,u,true);

h sonlul)dfs 2(h son/ul,u,false);
add node(u);
int i=head|ul;i;i=edge|i].next
int v=edgel[i].to;
==h_son{ul||v==fa ;
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add tree(v);

ans|u/=sum_c;
del)max_c=sum c=0,del tree(u);

int main

int n=read int(),root=1,u,v;

_rep(i,1,n
color|il=read int();
_for(i,1,n

u=read int();
v=read int();
Insert(u,v);Insert(v,u);

dfs 1(root,0);

dfs 2(root,0,false);
_rep(i,1,n
spacelans|[i]);
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const int MAXN=1e6+5;

struct Edge
int to,next;

edge [ MAXN<<1];

int head MAXN|,edge cnt;

void Insert(int u,int v
edge|++edge cnt|.to=v;
edge/ edge cnt|.next=head/ul;
head|u!=edge cnt;

int colorMAXN|,cnt/MAXN|,max c,ans d,ans|[MAXN];
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int d/MAXN]|,sz[MAXN|,dfs id|/MAXN!,node id[MAXN|,dfs t;
int h_son/MAXN|,mson|[MAXN|;
void dfs 1(int u,int fa,int depth
dlul=depth;sz/ul=1;dfs id|[ul=++dfs t;node id/dfs t|=u;mson/u|=0;
int i=head(u];i;i=edge[i].next
int v=edge(i].to;
v==fa ;
dfs 1(v,u,depth+1);
szlul+=sz[v];
sz[v|>msonlu
h sonlul=v;
mson{ul=sz(v/;

void add node(int u
cntidiul |++;
cntidiul >max c||(cntldlul|==max_c&&d|ul<ans d
max_c=cnt|/d/u!|,ans d=dlu/;

void add tree(int u
_for(i,0,szlu
add node(node id|dfs idlul+i]);

void del tree(int u
_for(i,0,szlu
cnt/d/node id|/dfs id/ul+i --3

void dfs 2(int u,int fa,bool del
int i=head|u];i;i=edge!i].next
int v=edgel|i].to;
==h_son{u]||v==fa ;
dfs 2(v,u,true);

h soniul)dfs 2(h son/ul,u,false);
add node(u);
int i=head|ul;i;i=edge|i].next
int v=edgel[i].to;
==h_son{ul||v==fa ;
add tree(v);

ans/ul/=ans d-dlu/;
del)max_c=0,ans d=-1,del tree(u);

int main

int n=read int(),root=1,u,v;
_for(i,1,n

u=read int();

v=read int();
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Insert(u,v);Insert(v,u);

dfs 1(root,0,0);
dfs 2(root,0, false);
_rep(i,1,n
enter(ans[i]);
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